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[Ef o EF4 EALAENI AER AET IE S AETL AESN AET IR XN LD
1 = 10 10 3 3 5 31 28
2 U5 9 6 15 15
3 |k 8 9 10 6 10 43 37
4 K& 7 8 9 9 9 42 35
5 |Up=E 6 3 7 5 3 24 21
6 [&£LL 5 7 6 3 3 24 21
7 | PAR 3 3 3
8 [KIF 3 5 5 3 3 19 16
9 [ 3 3 3 3 12 12
10 [#&%L1= 6 3 10 8 27 27
11 (L5 8 8 7 23 23
12 |[L\Lf= 7 7 7
13 0
14 0
15
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[ER o EF4 EALAENI AER AET IE S AETL AES AET IR XN LD
1 K& 10 7 8 6 9 40 34
2 [AhLb 9 9
3 [KiE 8 3 5 3 3 22 19
4 |t=mb 7 8 10 10 7 42 35
5 |&LL 6 5 3 3 8 25 22
6 |[ELhb 5 3 3 3 14 14
1|2 10 9 9 6 34 34
8 |A%LE: 9 7 8 5 29 29
9 |f=-h=E 6 6 6
10 |LWVBE5 6 7 10 23 23
11 |[LLat= 5 5 5
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JIE i RFHZ SE1HS | SE288 | SEI | 4R | SEOH | SHERK | SH7HE | SH8ME | ARtRA b AHHKAME
1 |=F 10 10 8 10 9 47 39
2 |05 9 4 13 13
3 [=hb 8 9 7 5 8 37 32
4 |&LL 7 7 9 6 5 34 29
5 U= 6 3 3 3 3 18 15
6 [K& 5 6 3 9 7 30 27
7 | PAR 3 3 3
8 [KIF 3 3 5 3 3 17 14
9 [#HALE= 8 6 3 10 27 27
10 |f-h= 5 5 5
11 _|[ELhb 3 3 3 3 12 12
12 L5 10 8 6 24 24
13 |LLt= 7 7 7
14 0
15 0




